
LIST OF INACTIVE ITEMS FOR RCF:FUR

Sr PL No. Description Unit Stock AAC Stock Value LI/LR-DT WD /
DP

1 33620120 CABLE DUCT A25(H)X25(W),1M STD.SLOT GREY
CAT.NO.CD

MTR 3000 303024 29-AUG-23 03/80

2 33620222 HEXAGONAL LOCK NUT PG29,ANNX-
A,TAB.A10,SNO 6.

Nos. 6628 157343 24-JUL-24 03/80

3 33641249 GPS BASED PASSENGER INFORMATION SYSTEM
FOR MEMU RA

Set 2 0 293193 19-JAN-24 03/80

4 33642011 PA SYSTEM FOR DOUBLE DECKER EOG COACHES Set 7 355097 16-SEP-23 03/80

5 33642618 SWITCH PLATE ASSEMBLY COMPLETE FOR LHB
EOG AC DOUB

Set 5 40439 01-SEP-23 03/80

6 33642631 SET OF PANEL(FOR LHB NON AC
COACHES)WITHOUT LV PAN

Set 25 3849750 07-JUN-24 03/80

7 33642734 FEEDER JUNCTION BOX FOR INSPECTION
CARRIAGE(ADMNIS

Set 48 3730688 04-JUN-24 03/80

8 33650779 RUBBER PACKING FOR EFT MOUNTING PLATE Nos. 767 53260 16-JUL-24 03/80

9 41112428 PVC SLEEVE 10MM ID BLUE MTR 42081 60244 22-SEP-23 03/80

10 41981091 NEOPRENE BONDED RUBBERISED CORK SHEET
SIZE 5MMX9

Nos. 48 48144 24-APR-24 03/80

11 42110087 MICROPROCESSOR BASED DESTINATION BOARD
FOR GARIB

Set 14 0 173356 19-JAN-24 03/80

12 42980288 CENTRALIZED DISTRIBUTION PANEL WITH
WAGO TERMINAL

Nos. 122 0 227063 19-JAN-24 03/80

13 45980172 FUSE BASE AND CARRIER COMPLETE FRONT
CONNECTON TYP

Nos. 175 36964 11-APR-24 03/80

14 45980354 EARTHING LUG Nos. 1840 148295 13-MAR-24 03/80

15 66985572 BOLTED TYPE HRC FUSE,63A RATING, TYPE FSA
415V,50H

Nos. 483 21945 11-APR-24 03/80

16 33535358 HARD PVC FOAM SHEET TO SIZE
43X1200X2400MM

Nos. 229.4 229.4 268627 14-NOV-23 05/80

17 33600181 SEATS OF GUARD ROOM FOR LHB POWER CAR
EOG COACHES,

Nos. 18 73747 19-DEC-23 05/80

18 33693146 SEATING ARRANGEMENT OF LHB GS AC COACH Set 3 67 5310000 21-DEC-23 05/80

19 73980250 CSK HD SCREW M6X25 STAINLESS STEEL Nos. 6406 10263 09-SEP-23 05/80

20 73980675 HEX HEAD SCREW M24X130-N HIGH TENSILE Nos. 1531 114567 03-JAN-24 05/80

21 73980766 HEX NUT M24 HIGH TENSILE Nos. 9005 194794 16-APR-24 05/80

INACTIVE ITEMS https://www.ireps.gov.in/fcgi/runfrm

1 of 7 02-08-2025, 09:27



22 37980830 LIQUID THREAD SEALANT FOR AIR BRAKE
PIPING IN PACK

Nos. 195 114894 26-JUL-24 06/80

23 77030618 PU LACQUER FOR EXTERIOR OF CONVENTIONAL
AND LHB CO

Set 110 930600 08-NOV-23 06/80

24 83980039 APPLICATION FORM FOR PASS (SIZE 15x24.5 cm)
IN PAD

Nos. 390 11045 15-APR-24 07/80

25 83980258 SUPERVISOR DIARY Nos. 74 13882 03-JUL-24 07/80

26 33530087 HPL SHEET 1.2X1220X2440MM, COLOR &
SURFACE FINISH

Nos. 715 586626 03-JUL-24 09/80

27 33530300 HPL SHEET 1.2X1220X2440MM, COLOUR AND
SURFACE FINI

Nos. 419 449971 06-JUL-24 09/80

28 33530415 SUPPLY AND APPLICATION OF SOUND
INSULATING WOOD PA

Nos. 1710 8641820 27-DEC-23 09/80

29 33530439 SUPPLY AND APPLICATION OF SOUND
INSULATING WOOD PA

Nos. 3 19264 09-OCT-23 09/80

30 91010860 ALUMINIUM COIL 1.6X 915MM COIL WT MORE
THAN 1 MT

Kgs. 5516 1727138 16-DEC-23 09/80

31 30440154 ALUMINIUM EXTRUSION FOR WINDOW CURTAIN
FOR WGFCNAC

Nos. 1411 192145 19-OCT-23 19/80

32 30542327 RUBBER PLUG Nos. 3138 21033 20-FEB-24 19/80

33 33600119 SET OF SEAT ATTACHMENT PROFILE FOR LHB
HOT BUFFET

Set 29 687252 07-MAY-24 19/80

34 33600521 SEAT ATTACHMENT PROFILE L=4100 MM Kgs. 278 59036 06-DEC-23 19/80

35 33612699 SET OF MOUNTING BRACKETS FOR LAV.MODULE
FOR DDZACE

Set 6 3717 24-AUG-23 19/80

36 33615159 STOP COCK (OUTER THREAD) Nos. 3323 1070230 01-FEB-24 19/80

37 33690455 SET OF CHANNEL FOR DOUBLE DECKER COACH Set 6 3512 13-APR-24 19/80

38 33691794 STICKER FOR MARKING OF LAVATORIES/BODY
SIDE ENTRAN

Set 755 1152825 09-MAR-24 19/80

39 33692725 AIR VENT FOR LHB AC 3-TIER ECONOMY
COACHES.

Nos. 10800 13764 5346292 24-APR-24 19/80

40 33692749 INTERIOR STICKERS WITHOUT BRAILLE FOR LHB
AC-3 TIE

Set 334 222 1590781 30-MAR-24 19/80

41 33693237 SET OF EXTERIOR STICKERS FOR LHB GS AC
COACH

Set 3 67 17665 13-DEC-23 19/80

42 62132040 HOSE CLAMP 120 Nos. 2816 48147 10-NOV-23 19/80

43 30060059 SET OF CENTER PIVOT PIN AND COTTER Set 54 919424 30-DEC-23 22/80

INACTIVE ITEMS https://www.ireps.gov.in/fcgi/runfrm

2 of 7 02-08-2025, 09:27



44 30631373 HOSE COUPLING Nos. 1939 45129 03-APR-24 22/80

45 33565995 ENTRANCE DOOR ASSLY (L.H) FOR LHB NON AC
STAINLES

Nos. 6 160745 13-JAN-24 22/80

46 33612821 PIPE CLAMP Nos. 2525 29669 10-JAN-24 22/80

47 33692762 HAMMER BOX ASSEMBLY Nos. 2 684 1570 14-MAY-24 22/80

48 33693195 SET OF MOUNTING ARRANGEMENT OF AUTO
SLIDING DOORS

Set 3 67 292050 19-SEP-23 22/80

49 33693274 SET OF DOOR FRAME PANELS FOR GS AC COACH Set 3 67 38621 07-DEC-23 22/80

50 37988955 HAND RAIL ASSEMBLY Nos. 228 360784 17-MAY-24 22/80

51 75040852 FELT 6X600X1830MM Nos. 2557 966546 22-FEB-24 22/80

52 91985377 GLASS FOR SWING DOOR FOR ENTRANCE TO AC
AREA FOR L

Nos. 658 414591 24-JUL-24 22/80

53 33620878 4 SQ. MM (CHOCOLATE) THIN WALLED FLEX.
ELAST. CABL

MTR 1576 118243 14-DEC-23 23/80

54 33620908 10 SQ. MM (YELLOW) THIN WALLED FLEX. ELAST.
CABLE

MTR 848 136820 08-MAY-24 23/80

55 33621100 50 SQ. MM (GREEN/YELLOW) THIN WALLED
FLEX. ELAST.

MTR 564 366647 12-JAN-24 23/80

56 33621240 185 SQ. MM (YELLOW) THIN WALLED FLEX.
ELAST. CABLE

MTR 374 787859 10-JUN-24 23/80

57 33621743 4 SQ. MM (GREY) THIN WALLED FLEX. ELAST.
CABLE WIT

MTR 16778 1024714 04-JAN-24 23/80

58 33621962 50 SQ. MM (CHOCOLATE) THIN WALLED FLEX.
ELAST. CAB

MTR 2188 1336543 20-FEB-24 23/80

59 33622097 185 SQ. MM (RED) THIN WALLED FLEX. ELAST.
CABLE WI

MTR 300 632789 20-FEB-24 23/80

60 33622218 50 SQ. MM (WHITE) THIN WALLED FLEX. ELAST.
CABLE W

MTR 1712 1045681 12-JUN-24 23/80

61 33622449 50 SQMM COLOUR GREEN YELLOW THIN
WALLED FLEX. ELA

MTR 147 150 92628 17-FEB-24 23/80

62 33622954 1.5 SQ. MM (GREY) THIN WALLED FLEX. ELAST.
CABLE W

MTR 87464 2195706 16-DEC-23 23/80

63 33623296 SET OF COPPER CRIMPING LUG SUITABLE FOR
IVC PLUG O

Set 1836 1569874 03-JUN-24 23/80

64 33640142 6 SQ. MM (CHOC) THIN WALLED FLEX. ELAST.
CABLE WIT

MTR 1438 112303 02-APR-24 23/80

65 33640671 COPPER CRIMPING SOCKET FOR 50SQMM CABLE Nos. 4477 313105 08-AUG-23 23/80

INACTIVE ITEMS https://www.ireps.gov.in/fcgi/runfrm

3 of 7 02-08-2025, 09:27



66 33641778 COPPER CRIMPING SOCKET FOR 50MMSQ CABLE Nos. 3456 249060 29-JUN-24 23/80

67 40070116 4X1.5SQMM COLOUR BLACK ELECTRON BEAM
IRRADIATED SC

MTR 615 163564 20-SEP-23 23/80

68 42982108 CEILING FAN CAPACITOR TYPE, 1200MM SWEEP,
MINIMUM

Nos. 1451 3163686 27-APR-24 23/80

69 42982945 CABLE HARNESS OF ROOF ARRANGEMENT FOR
AC SG 3 TIER

Nos. 11 1670156 20-FEB-24 23/80

70 42983105 CABLE HARNESS FOR U/F ARRANGEMENT OF
ACCN SG COACH

Set 15 0 641018 19-JAN-24 23/80

71 45180325 RAILWAY CARRIAGE FAN,300MM SWEEP,FIXED
TYPE,110V A

Nos. 78 235886 08-DEC-23 23/80

72 30560457 SET OF FRP DOOR FRAME PANELS FOR
DDZACEOG COAAACHE

Set 31 145985 18-JUN-24 27/80

73 30637340 WATER TANK MODULE (MDTS 093 REV 08 IS
APPLICABLE)

Nos. 35 0 287095 19-JAN-24 27/80

74 30640398 SS INLAY INDIAN STYLE WITH OUTSIDE WASH
BASIN

Nos. 176 176 215341 19-JAN-24 27/80

75 33615056 MOUNTING ARRANGEMENT OF BIO-TANKS-RH
FOR LHB AC CH

Nos. 14 1114274 08-DEC-23 27/80

76 33616220 SET OF FRP LAVATORY MODULE AND PLUMBING
ITEMS MAT

Set 1 220 788380 08-APR-24 27/80

77 33693183 SET OF LAVATORY MODULES Set 3 67 1817617 21-SEP-23 27/80

78 33693250 FRP PANEL FOR LCD ON PP AND NPP SIDE IN GS
AC 120

Nos. 6 134 31860 08-DEC-23 27/80

79 33693304 SET OF SIDE WALL PANELS FOR LHB GS AC
COACHES

Set 3 67 494269 08-NOV-23 27/80

80 33693389 SET OF FRP TROUGH COMPLETE AND RUN-OFF
FOR LHB

Set 32 170 2722686 02-DEC-23 27/80

81 33635640 GPS BASED PUBLIC ADDRESS AND PASSANGER
INFORMATION

Set 3 2260461 07-DEC-23 28/80

82 33642850 ROOF MOUNTED AC PACKAGE UNIT FOR LHB
COACHES

Set 12 23404000 09-APR-24 28/80

83 45210045 DISTRIBUTION PANEL Nos. 11 0 114626 19-JAN-24 28/80

84 45971596 SET OF MU COUPLER AND CONNECTING CABLE
FOR TCN COM

Set 5 0 162500 19-JAN-24 28/80

85 47200002 1550 KVA , UNDERSLUNG MODULAR
TRANSFORMER

Nos. 4 0 1396112 19-JAN-24 28/80

INACTIVE ITEMS https://www.ireps.gov.in/fcgi/runfrm

4 of 7 02-08-2025, 09:27



86 30560822 LAV. DOOR ARRANGEMENT FOR HANDICAPPED
COMP.

Nos. 4 10457 32/80

87 30637168 MIRROR ASSEMBLY COMPLETE FOR MIRROR
FIXING ARRGT.

Nos. 78 21883 32/80

88 30767015 TOILET ENGAGED INDICATION LIGHT FITTING Nos. 99 22900 32/80

89 30982121 COVER MOULDING FOR FAN BRACKET Nos. 200 2608 32/80

90 30988858 VESTIBULE ARRANGEMENT (UIC TYPE ) Set 85 894437 32/80

91 33561035 HOPPER WINDOW FOR LHB COACHES Nos. 9 71732 32/80

92 33594650 MIRROR LH Nos. 2 785 32/80

93 33612705 MIRROR RH Nos. 2 799 32/80

94 37985875 FIXING ARRANGEMENT OF ROLLING SHUTTER Nos. 111 201377 32/80

95 45976740 PCB FOR FLASHER 24V5W ZENOR ACROSS Nos. 119 38179 32/80

96 33560468 SUPPLY AND APPLY OF EMERGENCY WINDOW IN
LHB AC SL

Nos. 594 4109762 02-JAN-24 33/80

97 33560493 SUPPLY AND APPLY OF EMERGENCY WIDER
WINDOW WITH SL

Nos. 2 28394 25-NOV-23 33/80

98 33560500 SUPPLY AND APPLY OF WIDER WINDOW WITH
SLIDING SHUT

Nos. 3 41645 21-DEC-23 33/80

99 33560535 SUPPLY AND APPLY OF SMALL FIXED WINDOW IN
LHB POWE

Nos. 54 212688 03-MAY-24 33/80

100 33560560 SUPPLY AND APPLY OF SMALL FIXED WINDOW
FOR LHB AC

Nos. 72 334124 02-JAN-24 33/80

101 33569824 SUPPLY AND APPLY OF SMALL WINDOW IN LHB
SLR HOG CO

Nos. 4 25488 22-FEB-24 33/80

102 33591179 LETTERING INSIDE FOR LHB AC3TIER (LHB
SHELL ON ICF

Nos. 83 83 126683 06-DEC-23 33/80

103 33592998 SET OF CIRCULATING AIR BOX FOR LHB AC1ST
SLEEPR (M

Set 4 28695 06-MAR-24 33/80

104 33594934 FOLDING TABLE FOR FAC COACHES Nos. 154 195611 26-JUL-24 33/80

105 33612638 BALL VALVE 1.25" Nos. 172 158971 20-APR-24 33/80

106 33682549 MARKING DIAGRAM FOR LHB EOG INSPECTION
CARRIAGE AD

Set 10 111393 28-SEP-23 33/80

107 33692701 BOTTLE HOLDER FOR LHB AC 3 TIER ECONOMY
COACHES

Nos. 14255 18426 2780460 15-APR-24 33/80

108 33693160 FLOOR AND PROFILE L=2000MM Nos. 90 1206 104182 20-JAN-24 33/80

109 33693171 SUPPLY AIR DUCT FOR LHB GS AC COACHES Set 3 67 493642 15-SEP-23 33/80

INACTIVE ITEMS https://www.ireps.gov.in/fcgi/runfrm

5 of 7 02-08-2025, 09:27



110 33693225 ROLLER BLIND ARRANGEMENT FOR LHB GS AC
COACH

Set 3 67 435420 04-DEC-23 33/80

111 33693298 SET OF SEAT ATTACHMENT PROFILE &
COVERING & COVERI

Set 2 67 206500 21-AUG-23 33/80

112 35983851 SMALL FIXED WINDOW Nos. 135 616279 11-APR-24 33/80

113 33670493 HEX HEAD SCREW M10X16 HIGH TENSILE Nos. 9194 26189 05-JUN-24 35/80

114 33671023 HEX HEAD SCREW M8X80 STAINLESS STEEL Nos. 4232 35236 06-JUL-24 35/80

115 33672180 MACHINED WASHER 5.3 STAINLESS STEEL Nos. 100900 23962 30-JAN-24 35/80

116 37981377 HEX NUT M12 Kgs. 90 10439 23-MAR-24 35/80

117 73030013 HEX HEAD BOLT M8X70 Nos. 424 2013 11-MAR-24 35/80

118 73030752 HEX HEAD BOLT M12X90 Nos. 82741 466377 08-JUL-24 35/80

119 73100195 HEX NUT M10 Kgs. 169.46 15883 08-NOV-23 35/80

120 73111259 HEX NUT M 5 SC Kgs. 34.97 5157 04-JUL-24 35/80

121 73530116 CSK HD SCREW M8X30 STAINLESS STEEL Nos. 250 663 28-MAY-24 35/80

122 73560741 HEX HEAD SCREW M8X50 Kgs. 87.18 8022 10-MAY-24 35/80

123 73723057 CHEESE HD SCREW M6X40, COATING AS PER
MDTS 057

Kgs. .683 98 06-JUN-24 35/80

124 73849900 HEX HEAD SCREW M16X80 HIGH TENSTILE Nos. 23702 640 562755 19-APR-24 35/80

125 73970013 PAN HD TAPPING SCREW ST 4.2X32-C, COATING
AS PER M

Nos. 19261 17478 02-DEC-23 35/80

126 73981357 HEX HEAD SCREW M12X40 HIGH TENSILE Nos. 14214 163122 06-JAN-24 35/80

127 32980358 SET OF STEEL ITEMS OF CEILING MOUNTING
GENERATOR R

Set 54 1238066 21-FEB-24 38/80

128 33510891 PIPE CLIP Nos. 8048 207313 25-JUL-24 38/80

129 33594193 HINGE COMPLETE Nos. 6511 686852 02-JUL-24 38/80

130 33595458 HINGE COMPLETE Nos. 1246 146322 04-APR-24 38/80

131 33595616 HINGE COMPLETE Nos. 6368 681844 02-JUL-24 38/80

132 33596864 SET OF FRP COMPONENTS FOR LHB
COACHES(MDTS133 REV.

Set 485 570360 14-MAR-24 38/80

133 33596888 HINGE COMPLETE Nos. 529 32776 03-MAY-24 38/80

134 33612067 STAINLESS STEEL WASH BASIN COMPLETE WITH
PLATFORM

Nos. 31 102796 30-JAN-24 38/80

135 33613140 BRACKET FOR LHB COACHES Nos. 6117 52392 27-MAR-24 38/80

136 33613357 BRACKET Nos. 10700 76625 28-NOV-23 38/80

INACTIVE ITEMS https://www.ireps.gov.in/fcgi/runfrm

6 of 7 02-08-2025, 09:27



137 33670456 CROSS RECESS CSK HEAD SCREW M10X25
STAINLESS STEEL

Nos. 3100 15032 19-MAR-24 38/80

138 33671047 SCREW INSERT M5X10 Nos. 50 251 12-JAN-24 38/80

139 33671163 HEX SOCKET HEAD CAP SCREW M5X25 Nos. 10000 34810 05-FEB-24 38/80

140 33693262 NON AC AREA CEILING MOUNTING FOR GS AC
COACHES

Nos. 3 5 290375 05-DEC-23 38/80

141 33693286 SET OF LUGGAGE RACK MODULES FOR LHB GS
AC COACH

Set 4 5 1741680 22-NOV-23 38/80

142 35984880 SPECIAL HAMMER HEAD SCREW M8X20 Nos. 5262 42592 06-JUL-24 38/80

143 35984909 SPECIAL HAMMER HEAD SCREW M6X20 Nos. 21646 145113 23-NOV-23 38/80

144 35984946 HOSE CLAMP 55 Nos. 3005 56734 09-APR-24 38/80

INACTIVE ITEMS https://www.ireps.gov.in/fcgi/runfrm

7 of 7 02-08-2025, 09:27


